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Topic:- Child Development & Pedagogy (CDP)

1) A teacher teaches a topic by telling students to come up with questions and
presentations. Which principle of learning is he/she following? /WﬁT&WW
DI U fAuy vgrdr g 3Nk 3TN Jaftd Uy 3R yRgfaal & 1Y 31 & forg
Fears | Fafafea 9 9 93 e Risia o1 s s @1 8?

1. Transfer of learning / &WWW

2. Help in reconstruction /mﬁﬂ—dﬁ

3. Active participation /Wﬂ—‘é’lﬂﬁ?ﬂ

4. Learning as a social activity / JTHIST® Tiafale & 9 & TR

Correct Answer :-

« Active participation /Wﬂg“—lllilal

2) What is the most important thing a child should learn from his failures in

school performance /waﬁﬁﬁmm%uahﬁ 3T BT |
TG He@qul a1 T JRa=it a1ige?

1. To approach challengers with multiple perspectives. /ﬁ%’f@ﬁvﬁ@r?ﬁl‘cﬁéﬁ
qrell o HT ST

2. To change their subjects. / 30 favdl & dgaT|

3. To work on time Management skills. / THI Jd¢ HIYA TR BTH HIAT|

4. To memorize the one right way of achieving success. / JHhddl UM & ol aiiel &l
RICREEE N

Correct Answer :-
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« To approach challengers with multiple perspectives. /ﬁmﬁﬂ:ﬁ?ﬁaﬁ
qrell o HT ST

3) Who measured personality based on the two dimensions- extroversion and

introversion? / fpu afddea & 3Mpa— a’ﬁa'l_tﬂ 3R 3Aiaf¥e g SmamHl iR
ety fear

1. Cattells/ hed

2. Eysenck/m
3. Freud/ 1S

4. Bandura/ ETRT

Correct Answer :-

. Eysenck/&ﬂgﬁ$

4) can be used to conduct both formative and summative

assessment. / mamﬂﬂﬁnfwraw Gﬁ? YRTTHS 3fipa a':ﬁ
B B & fore fvar o IPpar 31

1. Homework / Wl'ﬁ

2. Evaluation of teacher effectiveness / [RI&d THTARICId BT i
3. Portfolios / TICwWIferdl
4. Self-assessment of students / BTH| D] W-3fTh el

Correct Answer :-

. Portfolios / TCWhITerAl

5) has developed a sociocultural approach to cognitive development. /
= SIS I & I T queRdt i fasRd
fear g1

1. Lev Vygotsky / ferd CIEUISIED

2. Erik Erikson / Q|Q$ sﬁW:f
3. Jean Piaget / S foarst
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4. Jerome Bruner / ORI §7%

Correct Answer :-

. Lev Vygotsky / INCEIRUIREDS

6) Children can be fully toilet-trained by the age of ./ =i DI |

TG 9P TR a¥E A SMaray-uinfea fear smasarg|
1. One year /Waﬁ

2. Two years / a“rarsf

3. Three years / dHay

4. Four years / IR a§

Correct Answer :-

« Three years / dHay

7) What type of theory of development does Erikson propose? / Qﬁ?\‘ﬁ A fea

PR & fabr & Rygid o ufaurfed fear?
1. Cognitive theory / TIFTHS Rgid

2. Learning theory / 3{TETH Rigid

3. Psychosexual theory / EEIGIRIED Rrgia

4. Psychosocial theory / TSI Rigid

Correct Answer :-

« Psychosocial theory/H-I\I{-IIHIIrGIOb Rigid

8) What is meant by Classical Conditioning? / RAIT AJP A (AT
ST BT HAd HT &2

1. A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / U d%l\fi"ll, Uh Uﬁmaﬁmmﬁﬁ &HdI Urtd
B & O Jd T J T 3R I gRT Uind i 718 gl 8

2. A stimulus loses the capacity to evoke a response which was originally evoked by

another stimulus. / Uh da\ﬂ"ll, Uh Uﬁmﬁmmﬁﬁ &W@a?ﬁ%
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o goT U ¥ U 3R IS gRT MedTied &1 718 giat 3|

3. A voluntary response is lost due to a negatively reinforcing stimulus. / TP RIHD

¥ I HOgd B alel 3ol & HRUN Wiwse Uldfehar |l ol g |

4. A voluntary response is followed by a reinforcing stimulus. / Udh Wiwss ufafspar
& §1¢ Ueh Holgd S<oHT gkl g

Correct Answer :-

« A stimulus acquires the capacity to evoke a response which was originally evoked

by another stimulus. / U d??l\fi"ll, Uh UﬁmaﬁmWﬁﬁ &HdT Utd
HRT § Ol A U I T 3R IoHT gRT Wieled &1 715 gidl g

9) What memory is used to remember how to make a paper plane? / TR @+

TIM & TP P 16 W & fore fvg Wfa &1 3w far sman g2
1. Echoic memory / Ufaeaf-id {fd

2. Iconic memory / {Hddd Ffd

3. Semantic memory / RTeqrdf Hid

4. Procedural memory / HishATHD {fdl

Correct Answer :-

« Procedural memory / PIERIEEE F:ﬂ%f

10) What is the term used to describe the person that a child observes and

possibly imitates in observational learning? / 3 iR BT AR HIA & ﬁI'E'
fa <1eg &1y foan wiran @ fordt s Rarofta it o Oféa svar @
HHTd: D! THd IARAT 82

1. Adult / 9gIH
2. Model / ATed

3. Prototype / Eh'cﬁa'{q
4. Teacher / TRT&/®

Correct Answer :-

. Model / AISd
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11) 'What could be the best way for a teacher to motivate children in the early-
adolescent years to go improve academic performance and develop interest in

school?/WﬁT&W%ﬁEﬁﬁmwmmﬂﬁm
o= # GUR &1 iR faemag o fu fasfia s # R iR s &1
I 33T A3 IhT T gl Ahdl 82

1. Increase peer pressure and competition / TEUIat &l gald 3R ufermef 31 dglh

2. Induce fear of tests, scores and failure through learned helplessness / 3T

BT &b ATHH T TN, 3ihl 3R BT b S Bl HH HIh

3. improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / 3ITTH BT UX UhTUdI
fImRId PR 3R P! g emdrslt H TAIYT TgTh 3MdRe IR &
JUR hR

4. Provide rewards and incentives / YR 3R JIcHTE GhR

Correct Answer :-

« improve intrinsic motivation by developing concentration on learning tasks and
enhance confidence in their intellectual abilities / S{TTH wqutR U TYdI
I RId FRe 3R I Afgd emarsl H ATARIYNT grH 3Mde IRum &
JUR h

12) Extreme deficits in social understanding is common in what childhood
disorder? /

TS g # il HHY, areuawT & foy feR & I g2
1. Dyslexia / fSwifaaa

2. Dyscalculia / W\’rﬂ
3. ADHD / TSITde! (AT Ud sifaafoadr faamr )

4. Autism / 3¢ )\’rﬂ?qﬁrh_s'(
Correct Answer :-

. Autism / 3{lfceH )G'I'I?Elﬁtn_s'(

13) Humanistic theory of personality is proposed by: / SfaxIed BT HIHATATG]
Rigia 39 gRT yRarfaa fam war o:

1. Abraham Maslow / 3dlgH AR
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2. Carl Rogers / GRS
3. Pavlov / UTddld
4. Carl Jung / AN Q‘T

Correct Answer :-

. Abraham Maslow / 3dlgH AR

14) Schooling is an important requirement for children when they are

administered this test. / 5§ g P Tg URI&0T fear ST a9 3d! W‘T
T T AUl STIRIH T :

1. Verbal intelligence test / AR Sfgdmar uem
2. Personality test / Sfacicd URE&T

3. Culture-fair test / PedR-UrdR TRIEf0T

4. Performance intelligence test / U?Q’h @ QQOI&I'UT

Correct Answer :-

. Verbal intelligence test / e aifgear uem

15) Changes that are not due to learning can be attributed to: / gf¥ad- sl

3ITERTH & BT T3] 8, S0 FHP fo¢ AR SEIAT ST Hehel 8:
1. Maturation / RTEH

2. Skills/ﬁw

3. Social influence / JHHTIPH FHTT

4. Cultural influence/ W YHId

Correct Answer :-

e Maturation / QWT

16) The term Familial factors refers to influence of ./ UTRATR® PRSP

g & YU &I Tefiia Hrar 3|
1. family members / UTRATRD G
2. school environment on learner/ TRI&M R faeea & II'@T“T
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3. facial expressions/ a—tﬁ & HIG
4. friend/ fHF

Correct Answer :-

« family members / TR &

17) The role of heredity starts in an individual’s life at the time of ./

%laaﬁwaﬂ Yo, feftaffadsiaad = samad el
|

1. Going to school / CEINRESIE]
2. Maturity / gRyehar

3. Conception / e

4. Birth / oTH

Correct Answer :-

« Conception / TR

18) A hearing loss between the range of 41 to 60 decibels is known as

hearing impairment. / 41 ¥ 60 SRYTT &1 W & d9 g1 919 I8U9 B
99U Y & ¥U H ST AT 5|

1. Moderate / H&HH
2. Profound / 7Te
3. Mild / &

4. Severe / Tidl

Correct Answer :-

« Moderate / HEH

19) Law of Effect was introduced by ./ 9MTa &1 & gRT
T o T o

1. Thorndike / QJI:]3|3$
2. Skinner / PR
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3. Kohler / W
4. Pavloy / UTdd@ld

Correct Answer :-

. Thomdike/ul:i3|3$

20) In inclusive pedagogy, computer is used ./ gHTaeh fRreureme
SE BT SUTNT frar ST 31

1. To motivate the learner / RIGTH P UNRT HA & %I'Q

2. To provide feedback / Ufdifehdl Ua™ &= o fog

3. All of these / G'Cl?ia?‘[ gut

4. To interact with the learner / QT&‘IT ff & 1Y FTatd B b ]%‘I'Q

Correct Answer :-

. All of these / ST T+

21) Which of the following is not associated with chunking? / fafafaad A
DI At AT | Haes 761 82

1. Meaning / 3

2. Miller / fAeRR

3. Grouping of seven / HId ®T HHg

4. Long term memory / AREAINEE Fﬂﬁ[
Correct Answer :-

« Long term memory / FEERINED F{[ﬁ[

22) Which of the following is not a product of learning? / FufafRa A &4

SHfATH T TP TROm 51 82
1. Knowledge / faem

2. Physical structure / Hifdes TaAT
3. Skill / I
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4. Maturation / URU&d

Correct Answer :-

. Maturation / URU&Gd

23) Which of the following development stages is part of Kohlberg’s theory of

moral development? / Fufafea A I S o IR, ﬁﬁ?ﬁ"f & Afaw
faera & Rigia o1 fewm e?

1. Punishment and obedience orientation/ TSI 3fR SHTRTHTIC] BWWUT

2. Interpsychological/ gay ISOb\I SISETY
3. Sensorimotor/ YTIHIEX
4. Young adolescent/ dIl fHRIR

Correct Answer :-

. Punishment and obedience orientation/ ol 31 CIRICAING] dﬂt@l‘\ldﬂUl

24) Which one of the following is not a process of memory? / fafafead @

B4 ¥t Ffd @HRY B TP ishar el 82
1. Retention / YR (RCTM)

2. Re-planning / G: e (-t

3. Recall / TR0T (RpIeT)

4. Learning / 3T (T’Iﬁ"'l)

Correct Answer :-

« Re-planning / g:rﬁfrm:r (&—WIT&PT)

25) Which type of parenting is characterized by emotional detachment? / foa
PR T UTA-GIY0T, YIGATHD ST $1 fIeT&orar g2

1. Uninvolved parenting / 3{E&g UTa GIy]

2. Authoritative parenting / IR EAIREAT R R
3. Dual worker parenting / el Y% gra=-aiyu
4. Single parenting / T cl JTa--gI90]
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Correct Answer :-

. Uninvolved parenting / 3{d GTel- TIYU[

26) To improve class discipline, the teacher has to: / &[T | SR Pl IER
o & ferg, fRrare &

1. Call parent teacher meeting to discuss the situation. / Rl & fa
HHHTaD-R1giep 53 B &I Al T

2. Note specific instructions of class rules in the diary. / SR H el gl &
fr¢=I o fafkre & ¥ Hic =1 A1fz T

3. Evaluate his/her methods and approaches and material./ 3t faferat g Q@W
3R IR &1 Hedich] BT AlfeT|

4. Consult the class and agree upon a series of punishment./ P&l T Rl BT
3R T8 P! TP YW R YeHd g1 gyl

Correct Answer :-

« Evaluate his/her methods and approaches and material./ 301 fafdrat 9 e fYeiur
3R IR &1 Hedich AT AlfeT|

27) CANCELLED

Which of the following situations show aptitude for verbal comprehension? /

frafafaa & & o @ wRfufaat, e = & foe afigly gufd &

1. Writing a poetry. / U Hiddl fera-T|

2. Listening and reacting to a friend’s problem. /W&Hﬁﬂﬂﬂﬁﬁﬂ:ﬂ 3R
gfafesar |

3. Acting in a school play. / T fa=ITerdt Ales | T HATI
4. Giving a speech in class. /$&ITff HTYOT &7

Correct Answer :-

. Listening and reacting to a friend’s problem. /Wﬁaﬁwﬁw 3R
gfcferar ¢l

28) CANCELLED
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Which of the following points is not consistent with John Dewey’s approach? /

fFrafafea 3 oi9-ar1 fdg i1 53 & SRS & ST g 82
1. Child is an active learner not a passive observer. / Il Ud> Tfepy Sifrmaemal %
Sl U fAfspa Dere 8 8

2. Human beings learn through a 'hands-on' approach. / H{® ‘%@—&ﬁq ’ E@ﬁm q
SITRTH BT B |

3. Learning should be relevant and practical, not just passive and theoretical. /

3T, URIIe 3R ATa8IRS BIFT A1RT, 7 fh dhad Afepy 3R Igifas |

4. The idea that one will be able to quickly recall the meaning of the material the

more one repeats it. /W%%%ﬁﬁfﬂ%ﬁ &M‘cﬁm%,
3BT Y STea! I TG HR B

Correct Answer :-

« The idea that one will be able to quickly recall the meaning of the material the

more one repeats it. /WW%%WWW@ &maew%,
39PT 37 SIed! T TG HR TH |

29) A 5-year-old child can differentiate his mother from a dog. This is due to which of the
following cognitive processes? / 5 HId PT ddl 39t Hi Bl Udh ﬁ T T HY GHdl
71 g5 fFufafeaa Jammere uitsars | 9 frad eRur g2

1. Concept /3{dYURUI
2. Attention / d&Tq
3. Sensation N%IE_'-IT
4. Perception /Eﬁ‘d

Correct Answer :-

« Concept /3{dYURUI]

30) Bipolar disorder also used to be known as: / fg3[dl faPR (FEATR
few3iier) 31 59 99 ¥ i 51 S 8:

1. Antisocial personality Syndrome/ TSI Hfddd fﬁ@ﬂ
2. Messiah Disease/ mﬂa I

3. Manic-depression/ TTgR[ dlq
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4. Munchausen syndrome/ H1dq ﬁl@j—q

Correct Answer :-

« Manic-depression/ TTgRl Hddlq

Topic:- General Hindi (L1GH)

1) BUTAY T B TP YA TSI § TRY | TRY ART TW&@1HTa S 8 =niaft, gyl 8ik yefa ot wR &
Trd g1d &1 3 TRY JUTST & S HeTgSul & AT & — ST UTSiferd T 3% gob uT gAY uT1 TRY |9 549 &t
TETYEYl H TSI YT | TG HIaT 8| TR AN "Hererd’ § A 99 1Y, 39 IR W TP HgH! yaid g1 Fel
et 8 b g9RY e Ugd TRY @ & gde A SR fossa 1 ik ggr wifeal ¥ 3ER-3R yewa g4 Al
el @H-U1 ST "YU e ST, 981 36 S1d | 99 IS &1 313 gidl af ¢ =) @t @i § e
USd | g8 WHIGGIN Si1a $d dP goidl 38T 811, TO He1-Ug! Ag] ol ol Wbdl | HISH I aar |
yewq F fafvad TRY ar &) faww Fiaw iR et st &1 W AT HRA1 usdr ATl 39 FRT AR
AR 9gd WRI gid A1 I1 1 TRY TS | o1 T Sifeq iR G ur g or w1 S gem umi s &t
TETYEY! 7 U= TN Pt U=l Y 3@ 3R JHEAT| ST A TR A 1 39 fyww ufefRyfoay &
fFreaer w8l o WM W A WA &1 Baar fFan

IUYE TR B UgHR R YD T YA BT S« qa13¢|
W: TR ST & FHTT B T v g2

1. Had gy

2. had it

3. had Upfd Ul

4. JURYad gt

Correct Answer :-

o SWRIad It

2) TUTAY ST B T WG ST 8 TRI | TR @R WuTd & € riafvr, ufesndt ok uefa & R a5
ard g1d &1 3 TRY JUTST & S HeTgS sl & AT & — ST UTeiferd T 3% gob Ut gRY uT1 TRY |9 549 &t
TETIEYl H TSI YT A TG HaT 8| TR AN "Hererd’ § ) 99 1Y, 39 IR W TS S| yaid g1 Fel
STaT 8 foF g9RI ATe Ugd TRY @R & gdet 94 iR fosad #t 3R g wifeal § $ER-3WR Yedhd 6d 3|
g1 @M-1A &1 \req frd wra1, 981 6 9d | 9id WIS &1 B gidl af A R 3t Wi | Fea
USd | U8 WHISGIY Siad &9 a® gadT 81 8N, TS Tol-Tg! Tl BT A1 TobaT| WIS Pt qarr o
yerq F fafvad TRY ar &) faww Fiaw iR et siaR) 1 W ArHET HRA1 usdr ATl 39 SR AR
T 959 W gha A1 3= Y TRY wurer A W ut Sifer iR I ut gAY Ut T v gam Ut 3 &t
HARTIEI ¥ U AN 1 WAl B ST iR FHg | Y 2 TR @t &) 39 faww ufefRufoat 3
FreTaey F8l 3 RIM R A 91 &1 b i

ST TR FY UGHR 1 T T U= BT Ik Tarsy |
W @GR BT T U § ?

R GAREI]

2. YHATR

3. R
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4, vsdd

Correct Answer :-

3) AUy I B Th THG S-S 8 TR | TR @7 W@ruTd | € wiafv, ufesnd ik uefa &) ur a5
a1d g1d 81 3 TRY G & &1 HgTYSul & ATH § — ST UTSiferd T iR g uT g1 uTl TRY U 39 6t
TIPS U] B! TSI YT A TS BT 81 TR AT ‘Hurera’ & $A 9 MY, 39 IR | TP HgH! yaferd 81 Hl
STaT 3 {6 guRI ITe Ugd MR @ & gdW 9 SR fosyd #t o ggr wifedl A 3ER-IWR Hedd ved 3
Wl @H-1A ST A1 fie STdT, 987 96 S| Sd HIS P BiSTS glal dl ¢ Rl &1 @il # e
USd | g WHIGGIN SHa &d ae aoid] 361 GRT, $O HS1-Ha! 5] bal ol [ebdT| HiS P qaarr

Yo F fafvad TRY ar &) faww T 3R sivrelt st &1 ff ArET BT usan ATl 39 SR AR)
ANT 9gd W= gha A1 3 fa TRY wwrer A 1 ut Sifer SR Y wr g wr b S gam Ui S &t
HARTTHE A 30 AN 1 WRnf~ral &Y S iR wHg | 4 A TR @t &Y 39 faww ufifRufoat 3
Aoraey $E oD I R A WH &1 e fHar

I TR P UgHR 12 IS T U= $T Sk qa1s¢|
W Ryt Weg T yaigardt eg g1 2

1. HTEAR

2. HHSR

3. 3fTerdt

4, Hgat

Correct Answer :-

4) VYT 59 P TH THW A1 @ TR TR ST [@1TE | g 2iafa, aivendt o uefa & ur s
a1d B1d 81 3 TRY 9T & & HgTYul & AT § — ST TSIferd T 8Nk g uT g1 uTl TRY U 39 6t
TETYU] B! TSI HHT A TG BT 81 TR AT " Hurea’ & $A 99 MY, 39 IR | TP Sl yaferd 81 Hl
STaT 3 6 guR) 9Te Ugd MR @ & gdW 9 SR fosyd #t o ggr wifedl A 3ER-IWR Yewd ved 3
Wl @H-1A ST J1Y= fe W11, 987 9P S| Sd YIS P HiSTE glal d) ¢ Rl &1 @il # e
USd| g WHIGGIN SHa Hd q aodl I81 R, $O HS1-Ha! 5] bal ol WebdT| HIS P daarr

Yo F fafvad TRY arn &) faww Ty iR sielt SRt &1 ff AT BT usar ATl 39 FRTAR)
NT 9gd W= gha A1 3 fa TRY wwrer A Wt Sifer SR Y wr gf wr b S gam Ui 3 &t
TETYEY! = U= TR St U=l Y 3@ 3R JHSATI ST 3 TR A 1 39 fyww ufefRyfoai &
Freaer w5l o R W A WA &1 Baar fean

Sue T B Tgh 2 T T U BT I« TS
W IR TG ?

1. T Uret

2. Th Sl

3. Uh I_T

4. TP AT

Correct Answer :-
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5) UTAY I B Th THG SIS & TR | TR AT WruTd | &) wiaft, ufesd ik uefa & urR a3
a1d g1d 81 3 TRY G & &1 HgTYSul & ATH § — ST UTeiferd T iR g uT g1 uTl TRY U 39 &t
TETY U] B! TSI HHT A TG BT 81 TR AT ' Hurera’ & $A 9 MY, 39 IR | TP S| yaferd 81 Hl
STaT 3 6 g9R) 9Te Ugd MR @ & gdW 9 SR fosyd 3t o ggr wifedl A 3ER-IWR Hewd vEd 3
Wl @H-1A BT A1 fe STd1, 987 96 S| Sd HIS Y BISTE glal d) ¢ Rl &1 @il #
USd | I% WHIEGI S &9 ad aadl 61 8N, $O Hel-Te! 11 BT AT Tbdl | HIeH Pt aarr

Yo F fafvad TRY aF &) faww T 3R sivrelt st &1 ff ArET BT usdn ATl 39 FRIR)
NT 959 W gha A1 3 e TRY wwrer A W un Sifer SR 3w wr g ur T s gam Ui A &t
HRTTHE A 30 N 1 W=nfaral &Y S iR wagm | 4 A TR @t &Y I faww ufifRufoat @
e wEf o R W A I &1 Baar fean

I TR P UgH? 12 IR T U= $T Sk ga1s¢|
wA: ‘fauw &1 faew 2sg g 2

1. 949

2.94

3.XH

4. JURTe] T

Correct Answer :-

6) NUTEY 59 F TP YU S=IoAfd & TRY | TR @ T&1HT | g 2riaftr, aieedt ok uefa & R s
T1a g1d B 1 3 TRY G & S HgTYul & AT § — ST UTSferd T 8Nk g uT g uTl TRY U 39 6t
TETYU] B! TSI YTV TS BT 81 TR AN ' Herea’ § $A a9 MY, 3 IR & TP S yaferd 81 Hel
et 8 fF g9RI Te Ugd TRY @ & gd i iR fosd 91 3R gy mifeal # 3ER-3R yewd e Al
el @H-1 ST "1Y= e S, 981 3 S1d | 99 WS &1 $iS-13 gidl af ¢ =) o Wi § Aea
USd | Ig WHIGGI SHa Hd d@ gedl I61 SR, PO Hel-Hel A6l Bl ol Hodl | Wi S aar d
Yedp & Sifafvad TR @ & faww T iR SiTelt siqaRt &1 4t A1 63471 Usdr ATl 39 $RUT TR
NT 95 W gha A1 3= e TRY wurer A W ut Sifer iR Y ur g ur bt s gam Ut 3 &t
TETYEY! = 3T TN Bt U=l Y 3@ 3R JHSAT| ST A TR A ot 39 faww ufefRyfoay &
Freaer TEf 3 R W A I &1 Baar fean

S T B UGHR - I T Y= BT I«ik qa3T
;o e 9 aed § 2

1. gfdpd Ay

2. 3fTFiE BT A

3. %A HH

4. fasmm o1 Hd

Correct Answer :-

. Tfaga A|
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7) TUTEY IS B TH TIE S-S 8 TR TR AT @ruTd & €1 riaft, ufesndt ik uefa &) U a5
A B1d &1 3 TR JHS & &) HeTYS! & -1H & — ST ursiferd ut 3R gob ut g uTl TRY qHIeT 39 Q)Y
HETIEYl P TSI YT | TS HaT 8|1 TR AR "Aerera’ § ) 99 1Y, 39 IR W UH S yaierd g1 Fel
STaT 8 fF 391 9Te Ugd RY @ & gdet 94 iR forsaa #t 3R g wifeal § $ER-IWR Yedhd 6d |
S8l WMA-1A &1 Tre= e ST, a8t T Sd | 9 WIS &) SiSAT8 gidl af 9 R # @ A Aed
USd| 9% E@HIEGIN Siiaq $9 a& Jad] 761 1, $O Uol-He! A1 Bl off HHdT| WIS Bt qorsr &
Yepd & Sfaf¥ad TRY @I &1 faud HA iR Sitrell SFaR] &1 WY AT ST USdT 4TI 59 HRUT TRY
T 959 W gl A1 38 e TRY urer A W ot Sifer 3R I ut gAY Ut T v gan Ut 39 &t
HETYSYI 7 37 SN Pt u=mf=a) B 3@ 3R JHE | ST A TR @ @) 39 faww ufRufaat &
fRreae? gl 3 WIF W A WA &1 Baar fear

ST TR H UgH - T T U= $T I«ik qarsy|
TR R § B W H YR 2

1. 0T Y

2. gUT Y

3. fawf |fy

4. 4 G

Correct Answer :-

. dH

8) TYUTHY ISy P UH YYW SIS 8 TRY | MR AT W1HTd | € wiafa, afed ik uspfa & wr 3
T g &1 33 TR FHTS P & HETYS .l & AATH & — ST uTSiier uT 3R gob Ut g uT| TRY AT 9 &Y
TETIEYI Bt TSI ST I TS HT ¢ | TR AR BT’ § ) 99 Y, 3P IR W UH B! yaierd ¢ Hgl
T & b R WTe Ugd TR @RI & gde 914 3R fossd @t 3R Ygr wifedl #f $HR-3IR YeHd TEd Al
W8T WM-1A &1 "ree frd wira, 981 3 e | 9id HieH &) SfSTg gidl af A R 3t Wi | Fea
USd| 9§ WHIEGIN Sitaq $9 a% gad] 761 1, $O Ho1-Ha! A1 Bl off HodT| WIS Bt qarsr §

Yo F Afafad TRY RN &) faws T 3R Sivrelt SRt &1t AT =1 usdn ATl 39 $RT IR
ART 9gd WRI g A1 31 & TRY [Tt ® &1 Ut Siferd 3R G ur g ot 1 S ge Tl 39 &t
HARTTH A 30 AN 1 WMl Bt ST SR Fag | S 2 TR @t &Y 3 faww ufvfRufoat 3
RreTae? FEl 3 WIF W & WA &1 Baar fear

IU TR P UG 1Y YD T U= P Sk qarse|

WR: TR T § IR A Aured # Y S92’ 39 o | yafa g 2
1. CH

2. 791

3. Ml

4, DAl

Correct Answer :-

9) AYUTAY Iy P TS YW ST 8 TRY | TR @ W@rHTa | € Wiafa, aikeyed ik uspfa # wr 3
T g 81 32 TR AT & & HeTgul & AW § — ST uTSfer uT 3R g Ut g uT| IRY THTe 39 &t
TETYUI B! TSI HFT A TG HIT 81 TR AN ‘HuTera’ & FA 9 MY, 396 IR | TP HaH| yaferd 81 Hgl
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STaT 3 {6 gURI ITe Ugd MR @ & gdW 9 SR fosyd 3t o ggr wifedl A 3ER-IWR Uedhd ¥Ed 3
STel WMA-1A &1 a1y e ST, a8t T Sd | 19 WIS B SiSATE gidl df 9¢ R # @ A e
USd| 9§ WHISGIN Siaq $9 a& Jad] 161 1, $O Hel-He! A1 Bl off HodT| WIS Pt qarsr &
Yo F Sffafvad TR @i &) faww Maw iR SiTelt SiraR) &1 ot ArHAT A1 USdr AT 39 HRUT TRY
ART 9gd WRI g A1 31 & TRY et & o1 ot Siferq SR G wr g wr s S gem Ut 39 &t
HARTTH! A 30 AN 1 WRnf=ral &t ¢ iR Jagm| MY A TR @t oY 3 faww ufvfRufoat 3
FoTaey $E o I R A WH &1 e fHarl

IUY T TR P UG 1Y IR T U= $T Sk qarse|

TH: WIS 3t aarr & g TRY st ot f5a Fis1 o1 [ oA ugar 41 2
1. daq fawm A ™

2. Bad ST SFaR

3. fawy Ay SR STl SFaR gl

4. TH A DI TS

Correct Answer :-

10) TETAY 3T B TP YR S 8 TRY | TRY @RT T@1HTa A 8 =riafi, oy oik uefa &t wr
F 919 B € 1 3 TR FHTS & ) WeTYSuI &b 1 & — o Ureifer uT 3R g Ut g uTl TRy 61 39
3 HRTYS &1 3t 45T | TIG HaT & | TR AR ‘e’ ¥ 9 a9 Y, 396 9R | U ST yafed g1
FT oTaT @ fob s9IRI OTd Ugd TRY @il & gdet =i+ 3R fasaa 1 3ik ger oifeal # 3tR-3R Hedhd Jgd
q| Sigt WM-1H &1 A1e= e wiran, 981 $ o | 519 o B HSA1s gl af 9 R @1 @i § fAea
USd | I% WHIEGIN S &9 a® aadl 61 81T, O Hol-Hel gl Bl ol Tbdl | HieH 3t aar d

Yo F fafvad TRY aFn &) faww Ty 3R Sirelt st &1 ff AT B usdn ATl 39 SR AR)
ART 9 WRI g A1 31 e TRY qurst & o ut Siferq 3R g ur g ur 1 S g Tl 39 &t
ARTTHE A 30 AN 1 W=nf=ral Y ¢ iR wag | Y 2 TR A B I faww ufvfRufoat 3
FreTaeY 8l 3 RIM IR A 94 &1 b &

S TR P UG -1 I T U= $T Ik a1s¢|
W=: WIS B BIEATS §1 IR TR Hgl 79 w1 A ?

1. $d RIF R

2. RE R R

3. W

4, TWRHWR

Correct Answer :-
. TCRA®R

11) TUTEY IS0 B TP THE AW 3 TR TR @R w@ryra & € iafi, afvsnd ok vefa o ur
PR 9Td i € 1 ST TR AT & &) WeTYSHI & A1 § — S UTetfer uT 3R g& Ut g7 uT1 TR |1t 37
3! HETYEE! ) T 4T A YIS HaT 31 TRY @R Aurad’ § ) 99 Y, 39 IR A TP Herl yafed gl
FT oTaT @ fob s9RI OTd ugd TRY @il & gdet i+ 3R fasaa &1 3ik ggr uifeal # 3tR-3R Hedhd Igq
Y| wigl @M-UH &1 A1 e SIrd1, 981 3 Sid | ST HISH &1 SioTs gidl df 78 RIF] 9 @ § fAed
USd | I8 WHIEGI S &9 a® aadl 61 81T, $O Hel-Te! 151 BT AT Tbdl | HIeH Pt aarr d
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Yoo F Sffafvad TR @i &1 faww Maw iR SiTelt SiTaR) &1 ot HrHAT A1 USdr AT 59 HRUT TRY
NT 9gd W= g A1 3 fa TRY wwrer A 1 ut Sifer SR 3 ur g ur b1 S gam Ut 3 &t
ARTTHE A 30 AN 1 WEnf~ral Y ¢ iR Jag | 4 A TR @t &Y I faww ufifRufoat 3
APTa®? ! 3 WM W & o[ &7 baar fear

ST TR P UGHR 12 IR T U= $T Ik ga1s¢|

UA: TR FA & fauw uRfRufaal ot awan | e e g 2
1. Had S U7 Sifer

2. had g argfrar

3. O OT Sifer 3R 1 a1 Y a1 g1t

4. @St =

Correct Answer :-

o ST IR TR G O g a1 gt

12) AUTEY IS0 B TP THE F-SI 8 TR TR @R w@ryma 3 8 riafi, afvsnd ok vefa o ur
P 91d B € 1 3T TR FHTS & ) WeTYuI &b 1 & — o ureifer uT 3R g Ut g7 uT1 TR 1St 59
3! HRTYEE! Y TS 4T A YIS HaT 31 TRY @RT AuTad’ § A 99 Y, 39P IR A TP Her! yafed gl
Fe1 A1d1 2 fF g9RI A1e ugd TRY AN & gde 19 SR forsaa 3t ok g wifedl # $tR-3WR Yewd ved
Y| Sl @H-UH &1 Q1= A Sd1, 981 9 Sd | 5d HISH &1 BfSATE gldl df 78 Wl &1 @ § Fed
USd | 98 WHIEGI Siia- $9 a& Iadl Y& 1, O Ael-Ta! el Hel ol Gl | Wi BI aarr o
Yedp & Sifafvad TR @ & faww T 3iR SiTelt siaRt &1 it |1 ST usdr ATl 39 $RUT IR
ANT 9gd W= gha A1 3 fa TRY wurer A 1 ur Sifer SR I un g ur b1 s gam Ut 3 &t
WETYUI A 3T AR1 &1 WRN=a) &) @7 SR JHSATI gH1 A TR @ & 39 faww uffRufaal 3
rpraey $E 3D I W) A WA &1 e fHar

SUe T B Tgpx H2 T T 7= BT I« TS
W: HUTEd St UIE ol § ?

1. Fyredt

2. Hiom

3. TR

4.7

Correct Answer :-

13) YTy 3T B TP YR S 8 TRY | TRY @RT TWrHTa A 8 =iiafia, gl oik wefa &t wr
PR 919 i 8 | ST TR AT & &) WETYSHI & A1 § — o Ureifer uT 3R g& Ut g7 uT| TR 6Tt 39
3! HETYEE! Y TS 4T A YIS HAT 31 TRY @RT Aurad’ § A 99 Y, 39P IR A T Her! yafed gl
HET TaT ¢ % gR WTe Ugd TR AN & g 9 3R fossa Y 8k g wifedl # 3ER-3tR Yedhd I8
Y| STl WH-1H &1 T1e= e o1, 981 39 9d | 99 WS B S8 gidl al T R 3t @ § fAea
USd | g8 WHIGGIN Si1a $d d goidT 38T g1, TO Hel-Ug! o] ol ol Wbdl | HISH I aar |
yerd F fafvad TRY aF &) faww Fiaw iR sirelt st &1 ff AT ST usdr ATl 39 FR AR
ANT 9gd W gha A1 3 e TRY wwrer A W ur Siferd SR 3 ur g ur b1 v gan Ut 3 &t
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TETYEY! 7 3 TN Y gl &Y 3@ 3R JHSAT| ST A MR A 1 39 fyww ufefRufoat &
fPrae? $Ef 3 M R A WA &1 e fHar

IUYE TR B UGH I YD T YA HT I« qa13¢|

w=: for wnfat & gder A ok forssa 9t ggr wifedt & wewd A @ 2
1. YT STl o ANT

2. TR SSIT o &

3. TTRY SIS & ST

4. TS ST & I

Correct Answer :-

o TIRI ST o AT

14) BYUTAY 3T B TP YR S 8 TRY | TRY @RT TW@1HTa S 8 2niaft, gyl oik uefa ot R
P 91d g € 1 33T TR FHTS & ) WeTYu! &b 1 § — I ureifer uT 3R g ut g uT1 TRy FH1e! 39
3 HBTS O o) IS YT | UIG HaT 8 1 TR @ Auray’ # $ 99 Y, 39 9R | T Sl yafed gl
FE1 11 ¢ {5 §9IRI A1e Ugd TRI AR & gdel 914 SR forsaa 3t ok ggr ifedl # $tR-3WR Yedd vgd
q| gt WM-1H $T A1e= i o, 981 $6 1 | 99 o B HiSATs giel af 98 R @1 Wi | fAea
USd| 9% @HIEGIN Siiaq $9 a& ad] 761 1, PO Hol-He! A1 Bl off HodT| WIS Bt qarsr &
Yepd & faf¥ad TRY AN &1 faud HA 3R Sitrell SiFaR! &1 WY AT ST USdT 4TI 59 SR TRY
T 959 W gl A1 3= faY RY wurer A W ot Siferd iR I ut gAY Ut T v gan Ut 39 &t
HETTHT A 317 AN 1 Wil Y S 3R FHg | Sl A TR At Y 39 faww uffRufoal @
FreTaet F8l 3 WM R d 91 &1 B fHan

IUYa TN DI UGH A1 Y T YA BT S@ qa1s¢l
R WHET-WAT & B9 9T EN @ 2

1. TSN GO
2. g qa™
3. 9gdiie 9a™

4, fg umg

Correct Answer :-
. G5 9HY

15) TYTEY IS0 B TP YR S 8 TRY | TRY @R1 TW@rHTa S 8 =niafi, gyl oik yefa ot R
H I B1d &1 3 TR JHS & &) HTIeu & A1 § — S ureifer ot 3R g ut g uTl IRy que 59
3 HRTESE &) IS YT | U1 HaT 8 1 TR AN Auray’ # Y 99 Y, 39 9R | T Sl yafed g1
8T oTaT ¢ fb URI TTd Ugd TR @R & gder 91 3R forsad &1 3R gge ofedl # 3eR-IeR Yedhd w8
q| I8t WM-1H 71 A1eF e o1, 981 ¥ o | 99 HieH B HiSATs giedl af 9 R @1 Wi | fAea
USd| 9% WHIEGIN Siaq $9 a& aad] 761 1, $O Ho1-He! A1 Bl off HodT| WIeH Bt qars &

Yo F JAfafvad TRY N &) faww T 3R Sivrelt SRt &1 ff |areT -1 usdn ATl 39 SR IRY
RT 9gd WA g1d A1 381 feAt TRY qurey & o ot Sifeq iR G wr g wr s S gem uTi s &t
HRTTH! A 30 AN 1 WAl Bt ¢ SR Fagi | Y 2 TR @t &Y 39 faww ufefRufoat 3
fReTae? $8l 3 WM R & 9 &1 har f&an|
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S T B UGHR - I T YA BT I«k 13T
W=H: HUTerd T ?

1. U T BT A

2. 599 Q B TE

3. fagw

4. Uh CR BT IH

Correct Answer :-

o Uh Y BT HMH

16) 3ITHTRI BT ATHT ATUBT
IS ot fererw igar
9371 ¢ UsTS,

gel W U 3 At areR-a,
TGP EID

UAT & ST P SISt
AYPR R YA |

Rrver do1 8 Yl & Tea-ATl

3ETH®- AT AR |

o Bt A arrarer -
g

forere offeht

YT I3T-

X Qe
SIERT BT T

ST UL H1 UgHh -1 I 1 aTdl U= BT IR Ja13¢|
TH: “3THTR BT fIdIH s T I

1. SRBR

2. UTTd

3. JamT

4. IRIad Tt

Correct Answer :-

17) 3ATPHTR BT ATHT STUH
ol &1 faaw daar
d3T1 ¢ UsTS,

gel R TS ¢ ¢} areR-4,
T 8 5gh 61 7
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TATRI & SITd P13t
HYPR G @ H
mh%ﬂ@%mml

SAS- Tl 7R |

oI fralt A 3rmare &t

g B

forerer affeft

YT I3T-

XS g

SFERT BT T

ST UL I Ugdh A U A1+ ardl U= $T Sk qarsu|
ULH: UgTS & -1 984l g8 <! frad guH few 3 @2
1. g W USI 91eR It

2. 9 I

3. fae & e

4. WSl & gus Al
Correct Answer :-

. YAl R USH e Al

18) 3ITHT BT ATHT ATYBT
IS ot fererw igar
937 3 UgTS,

Yool IR Ut g Al arer-,
L1 R KR

QTR & STd 91 ST
AYPR T qd o
maaa%ﬂs‘rasﬂﬁml

3EF®- AT AR

W fedt 9 emae di-
g

forers el

43T I31-

XS Qe
SIERT BT AT

ST UL H1 Ugh - I 9 aTdl U= HT IR 41381
W THIR BT quiH b w0 ¥ far mar 32

1. fra & ah & =u o

2. PR F TR F U

3. fPa & it F =u H

4. TR Y B 41
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Correct Answer :-

. PO S I HFTH

19) 3ATPHT BT ATHT TTUP
TR ot ey Sigar
ST 8 UTTS,

gel W Ul § A areR-4,
L5 R KGR

QTR & ST 1 ST
AYPR g qd |
ﬁmaéa%ﬂs‘r%nﬁml

3ATP- Il AR |

o Bt A armare -
v-\ﬂ:la-ta-v

e sifeht

3T 3I3T-

R gl
SERT BT AT

STYE UL &1 UgH -1 YD 1 aTdl U= HT IR Ja13¢|
W AP A DI aId 36T 82

1. I

2.1 R

3. Pl

4. AT

Correct Answer :-

20) 3{THT BT HTPT STUD
IS ot ferery igar
d3T1 ¢ UsTS,

geHl R US § ) areR-w,
T § qgh e 8

TATH & ST 1 SISt
AYPR gT qd |
maaa%ﬂs‘r%ﬂﬁ}ml

3AMP- ST AR

S ot 7 emare -
g &l

fererer affeft

YT I3T-


https://applink.adda247.com/d/XhqWf9lSap

Adda
Google Play

XS gl
3R BT T

ST U= B UgHh -1 I 9 a1dl U= HT Ik Ja13¢|
wzA: faan i sram e g 2

1. Fererd &1 g ST

2. T &1 &d ST

3. T &1 g1 ST

4, oI &1 Jac AT

Correct Answer :-

. TIa| o139 9HT

21) 3{THTI BT HTPT STUD
IS ot ey igar
9371 8 UsTS,

ge i IR U1 § e areR-,
TGP @D

TAT & ST P SISt
AYPR R YA |

Rrer 3618 Ysi & Tea-aTl

3ATF- T AR
SR AT A araTer €1
g B

forers ot

o 3T IBT-

X |l
SIERT BT T

SUYad UL $ UgH 1 U WA 91d WA $T IR 9a15¢ |
T Rl B diaw Saar 9 § R[S U 872

1. gl

2. ey

3. Pt

4. SRIad Tt

Correct Answer :-

22) 3THTRI BT HATPBT UBT
IS ot forery iaar
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ge Al IR ST § A4 aree-,
TGP0

TAT & ST 1 SIS
HYPR W YA |

Rrver 3518 Wi & Tea-ATl

SAT®- ST AR |

o fedt 7 smarw €i-

g &l

forerer affeft

YT 3BT

XS g

SERT BT AT

ST UL I g A U A1+ ardl U= $T S@iX qa1su|
U T & U] W fd ara-ara B fege! Hifa udia g1 e 82
1. el IR D! I1eR o 9qH

2. YU H ot Wl o IHA

3. Toretd OR gerTal 31T o |

4. STarat 3fTfidt o T

Correct Answer :-

. Sddl et & THH

23) 3ITHT BT HTPT STUD
IS ot frery igar
931 3 UgTS,

geHl W U 3 Tdt areR-¥,
TGP @D

TAT & ST B SISt
AYPR R YA |

Rryer o718 Yl & Tea-aTl

SEATF- T AR

o AT A ararer -
g Bl

forers ot

43T I3T-

Xl Qe
SIERT BT AT

ST U= $1 UgHR -7 TR WM 91dl U= BT @ik 9a13¢|
UH: “HIR’ BT ygigardt ¥ 872

1. Had Hard!

2. HId TR
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3. 9 B!
4. IWRad gt

Correct Answer :-

. SWRIad gt

24) 3ATHT BT HTPT STUD
IS ot fererw Sigar
d3T1 & UsTS,

Yol iR Ul § A areR-4,
THE GEPID

TAT & STed 1 SfiSY
AYPR W YA |

Ryvrer 931 8 ¥l & Ted-3|

3[ATP- I AR

o forelt 7 armare -
g &l

fererer affeft

YT I3T-

X gl
3R BT T

IUYad U= ) Ugh? - U W1 ardl U= $T Sk 9a13¢|
WA: TSl BT ygiaar A8t 8 2

1. GRar

2.9R

3. 9%

4, ACHT

Correct Answer :-

25) 3{THT BT HTPT STUD
Xl &1 faaw daar
931 3 UgTS,

gel W Ut 3 ¢ arex-4l,
TR TEP @IS

TAT & ST B SISt
AYPR R YA |

Ry 93718 A8l & Tea-aT|

3ATP- T AR
o frelt 3 srrarer -

v-\ﬂ:ﬁ 3'1-.
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farera offeht
YT I3T-

X gl
3R BT T

STE UL B! UgHh -1 I 9 aTdl U= HT Ik 138
WRA: ¢S T Y o1 82

1. S0 9 Pl T

2. A AT

3. RS g

4, 33 AT §

Correct Answer :-

. ISR

26) 3ITHTI BT HTPT STUD
Xl &1 faaw daar
931 3 UgTS,

gel W Ut 3 ¢ areR-Hl,
T T @R

TAT & ST P SISt
AUPR g qd &

Rrer 3618 Yl & Tea-aTl

3ATF- T AR
SR AT A ararer -
g &

forers ot

3T IBT-

X gl
SIERT BT T

SUY T U= B! UgR A19 IR S 9Td U= BT Ik 9a15¢|
WA: JATHTIC HT ATgard! g T8l 82

1. R

2.9y

3. 3R

4, T4

Correct Answer :-

o 3R
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S(THT BT JATHT ITUHT
ol &1 faaw daar

9318 UETS,

He i IR UST g e areR-,
U g Geh 6T 8

QTR & ST 91 ST
AYPR g qd o
ﬁm‘ré‘&r%ﬂ%ﬁamml

3AT®- AT AR |

oI fpelt A armarer -

G BT

forersr affeft

3T IBT-

XS QT

SERT BT AT

SUYa U= ) UgH A U W1H aTdl U= $T Sk 9a1st|
= “UATRY T Igigare Jeq @ ?

1. Had fhg®
2. HId ID

3. H9d UATRH
4. IWad gt

Correct Answer :-

o SWRIad gt

28) 3THTRI BT ATPT TUBT
IS ot forery Siaar

93712 UsTS,

gel W Ut g ¢ areR-4l,
TGP0

TAT & STd P NSt
HYPR WY |

Rryer 3518 Wi & Tea-AT

3ATD- el AR
o fopdt A smaret -

g

Rrerm sifeht

3T 3I1-

XS g

SERT BT AT

ST UL I g A U A1+ ardl U= $T S@iX qaisu|
U= TRgd Ui § ugrs feae! ave fowrs 3 w18

1. ASd §U fHuH &1 Re
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2. d¢ gU fbam &1 avg
3. T gU fhuH &1 a8
4. 96 gU fHUH &t g

Correct Answer :-

. 96 g UM &t e

29) 3{THT BT HTPT STUD
IS @t ferery igar
9371 ¢ UsTS,

gel W U 3 Y areR-a,
TGP @IS

TAT & ST P St
AYPR R YA |

Rrver 3518 Wi & Ted-ATl

3ETH®- AT AR |
o frelt A arrarer -

RCR
forera offeht

YT I3T-

XSl gt

S{ERT BT T[T

SUYa U= I g A U A1+ ardl U= $T S®iX 9a1st|

S U Ui | i3 famn & goar 3w feae yifa s 2 e
1. DR I IRg

2. I TR GerTelt 3T &Y Hifd

3. G & US Bl aRg

4. 3ffiST & gAA

Correct Answer :-

. R R g ST Bt it

30) 3(THTRT BT AT YD
ol &1 faaw daar
d3T1 3 UsTS,

Hel IR US1 g e areR-a,
LI R R

AT & ST P SFfaT
AYPR T qd |

Rrver 9371 8 A8l & TR

3ATP- Il AR
S foreht = simarer -
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gd Bl
Rrery it
3T 3IT-

X gl
SERT BT T

ST UL &1 UgH 1 YD S a1 U= BT Ik Ja13¢|
T=: Gd fATST UR 91T el SRR S Ui g1 ReT 32

1. us H ot Hf

2. farets &1 ST 4T

3. Siefdl it &

4, IWRIgd gt

Correct Answer :-

. FusH a3t NS A

Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some paper
and watercolours into her compact suitcase. They had been journeying for three days and they
were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people who
had different skin tones and they seemed to be speaking different languages unlike the place
where she came from. She was fascinated with all the sights and sounds. Standing on the busy
railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globel!

The different people that Nitara saw at the New Delhi railway station were from:

1. Indonesia

2. Australia

3. India and around the world
4. Switzerland

Correct Answer :-

e India and around the world
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2) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some paper
and watercolours into her compact suitcase. They had been journeying for three days and they
were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people who
had different skin tones and they seemed to be speaking different languages unlike the place
where she came from. She was fascinated with all the sights and sounds. Standing on the busy
railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globe!

Where were Nitara and her family travelling to?

1. Indonesia
2. New Delhi
3. Pakistan

4, Tamil Nadu

Correct Answer :-

« New Delhi

3) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some paper
and watercolours into her compact suitcase. They had been journeying for three days and they
were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people who
had different skin tones and they seemed to be speaking different languages unlike the place
where she came from. She was fascinated with all the sights and sounds. Standing on the busy
railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globe!

What does the word g/eaming refer to in this passage?

1. A thought
2. The sights
3. The sounds

4. A clean polished surface
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Correct Answer :-

o The sights

4) Read the passage carefully and answer the question given below:

It was the summer of 2008. Nitara her family were travelling to the north of India for the first
time. Nitara was excited to finally go on this trip. It was almost as though she had waited all her
life for this one day. She had packed her clothes, her tickets, accessories, a diary and some paper
and watercolours into her compact suitcase. They had been journeying for three days and they
were travelling from Tamil Nadu to New Delhi. They reached Delhi at night and Nitara was
stunned to see the gleaming city lights and to hear the hustle of the crowds. There were people
from all kinds of places-the North, the South, the East and West of India, there were people who
had different skin tones and they seemed to be speaking different languages unlike the place
where she came from. She was fascinated with all the sights and sounds. Standing on the busy
railway platform, she began dreaming - dreaming of travelling to Indonesia, Pakistan,
Switzerland, Australia and all around the world. She just wanted to travel and meet people from
around the globel!

What does the word ‘accessory’mean in this passage?

1. An excess of something
2. Tickets and clothes
3. Additions that make something more beautiful

4. A place where one can access something

Correct Answer :-

» Additions that make something more beautiful

5) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.
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The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.

“untouched by humankind” signifies a:

1. Place where farming has not been done
2. Place where no man has ever gone

3. Forest

4. Barren land with no human beings

Correct Answer :-

» Place where no man has ever gone

6) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.
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Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.

Livestock are animals that are found

1. in the zoo

2. in any vehicle
3. on the road

4. on a farm

Correct Answer :-

e on a farm
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7) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four

Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.
“On huge saline ..... blue gold”

These lines refer to which one of the following water bodies?
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1. Ponds
2. Lakes
3. Rivers

4, Oceans

Correct Answer :-

e QOceans

8) Read the poem carefully and answer the question given below:
Vehicles

Iron copper aluminium

Steel plastic wood and glass

Came together and were moulded,

Twisted and bent into convenient shapes.

Life- giving liquid was incorporated
To make this vessel traverse
On huge saline bodies

What is also known as “blue gold”.

The same materials were used

To make another mode of transport
Which were created to tickle the sky,
And sometimes if required,

Go beyond to explore other worlds

Untouched by humankind.

Rattling, thundering, honking,
Speedily moves a machine
Guided by a pilot and signal posts

On crisscrossing parallel rails, unending.

Navigated by steering a wheel,

Moving on wheels 2, 3 or four
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Or 6 or many more...

A machine moves on mud, tar or plastic road.
Carrying humans or livestock

Or tons of useful man-made or natural cargo.
“On huge saline ..... blue gold”

These lines refer to which one of the following water bodies?

“which was created to tickle the sky”... is an example of:

1. Metaphor

2. Personification

3. Alliteration

4, Transferred epithet

Correct Answer :-

o Personification

9) Read the sentence carefully and choose the option that has an error in it:
Both Vijayan and Rajan are quite tall but Rajan is the tallest of the two.

1. the tallest of the two.
2. Both Vijayan and Rajan
3. but Rajan is

4. are quite tall

Correct Answer :-

« the tallest of the two.

10) Fill in the blank with the correct option in the given sentence:
What I did was --intentional; I never meant to hurt your sentiments.

1. de--
2. un--
3. a-

4. mis--

Correct Answer :-
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11) Choose the most appropriate determiner in the given sentence.
women are mending the roof.

1. This

2. They

3. Them

4. Those

Correct Answer :-

« Those

12) Fill in the blank with the most appropriate preposition in the given sentence.
The temperature has been_ zero all this week.

1. below

2. under

3. down

4. beneath

Correct Answer :-

« below

13) Choose appropriate articles for the given sentence:

From  distance  columns looked like _ cluster of poles.
1. the, the, no article required

2. the, no article required, the

3. a,the, a

4. no article required, the, the

Correct Answer :-

e a, the, a

14) Choose the appropriate prepositions for the given sentence:
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An increasing number young people are trying to break free the traditional
types wedding.

1. from, at, on
2. to, in, for
3.1n, at, of
4. of, from, of

Correct Answer :-

o of, from, of

15) Choose the appropriate pronouns in the given sentence:

Having been a teacher , knew the challenges of teaching slow learners too

well.

1. myself, she
2. yourself, she
3. herself, she

4. itself, she

Correct Answer :-

« herself, she

16) Fill in the blank with the correct option in the given sentence:
Teachers give their students tests and assessments

1. period-wise

2. period

3. periodic

4. periodically

Correct Answer :-

 periodically

17) Choose the right tag:

™

He eats an apple every day,
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1.isn't it
2. does he
3. doesn't he

4. hasn't he

Correct Answer :-
. doesn't he

18) Change the given statement to indirect speech.
“Oh, what a beautiful dress that is!” she said.

1. She told it is a beautiful dress.

2. She exclaimed that it was a very beautiful dress.

3. She said that it is a beautiful dress.

4. She said that it was a beautiful dress.

Correct Answer :-
« She exclaimed that it was a very beautiful dress.

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Churchill was resolute in his opposition to fascism.
1. Contemplating

2. Fickle minded

3. Steadfast

4. Doubting

Correct Answer :-
« Fickle minded

20) Choose the appropriate conjunction for the given sentence:

you have a minimum of 320 score in GRE, you are unlikely to get a seat in American
universities.

1. Unless
2. However

3. Otherwise
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4. Untill

Correct Answer :-

e Unless

21) Choose the appropriate suffix in the given sentence.

The scene of crime was loath--.
1. --some

2. --full

3. --ing

4. --ly

Correct Answer :-

22) Choose the appropriate option that rewrites the given sentence in its active voice.

The letter was posted by Kishore.

1. Kishore posted the letter.
2. Kishore has posted the letter.
3. Kishore will have posted the letter.

4. Kishore would be posting the letter.

Correct Answer :-

» Kishore posted the letter.

23) Choose the appropriate tense to fill in the blank in the given sentence:

Drunken driving many accidents.

1. was causing
2. cause

3. is causing
4. causes

Correct Answer :-

e causes
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24) Choose the appropriate synonym for the highlighted word in the given sentence.
My friend speaks flawlessly with a Scottish lilt.

1. Language

2. Tongue

3. Pronunciation

4. Intonation

Correct Answer :-

e Intonation

25) Choose an appropriate modal for the given sentence:

The students help each other in their learning.

1. ought to
2. would have
3. might have

4. may have

Correct Answer :-

26) Choose the option that substitutes the given phrase appropriately.
A mounted soldier in the cavalry

1. Loner

2. Trooper

3. Stalker

4. Trouper

Correct Answer :-

» Trooper

27) Choose the option that best explains the highlighted expression:
He was in doldrums after the quarrel he had with his brother.

1. in a dilemma
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2. in low spirit
3. felt frustrated
4. very happy

Correct Answer :-

e in low spirit

28) Choose the option that best explains the highlighted expression:

‘Brevity is the soul of wit’ implies

1. Witty people are generally diminutive.

2. One can go on and on and still make sense.

3. Great intelligence is always associated with long speeches.
4. The essence of intelligence is to be brief in expression.

Correct Answer :-

« The essence of intelligence is to be brief in expression.

29) Choose the option that best combines the given sentences.

The poet sat in his tower. He gazed on the sea.
1. In the tower gazing on the sea sat the poet.

2. The poet sat in his tower gazed on the sea.

3. The poet sat in his tower and gazed on the sea.

4, Sitting in his tower gazing on the sea is the poet.

Correct Answer :-

« The poet sat in his tower and gazed on the sea.

30) Choose the option that best transforms the sentence into its Indirect form:

“Will I like it?” she wondered.

1. She had been wondering if she would like it.
2. She wondered if she will like it.

3. She wondered to herself if she would like it.

4. Wondering, she said if she was liking it
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Correct Answer :-

« She wondered to herself if she would like it.

Topic:- Science (SCI)

1) A teacher demonstrates an experiment to verify Newton’s law in class. He
then asks students for simple examples that prove the same law. Which ability

is he trying to develop? / WQT&W $&nﬁq3=r%ﬁmﬁﬁwfﬁamﬁ
& fore v v uelRia &=dar g1 98 fbe o 9 IRd Ierexun & forw wgar
T oIl 99 a9 aifad &34 gf | 98 5 &mdr &) fasfd o312 ot SilRm

B [T 3?2
1. Acceptation or rejection of the hypothesis  UR& T Bt W g1 &Iﬁﬁ Pl
2. Flexible and divergent thinking / Teiten 3R faftr fefas @

3. Express the task in terms of goals / el & {-Icil-ff[ BT P I B B

4. Correlation between various phenomena / faftre gersil o o ggdey &t

Correct Answer :-

« Correlation between various phenomena / fafys gearsfi & o9 Jegde] &t

2) Just as multi-flow map is used for cause and effect, a bridge-map is used for
analogies and comparisons. What is its significance? / o9 LRI Hed -0l AY BT
SUHRT, HRUT 3R YU & fore favar sirar 8, St ave ue foe-au &
SUENT, =T 3R gerrsii & o forar <irar 8 1 sH®T Hed w1 8?2

1. Effective method in teaching science / T Rreror § gurdt i1l
2. Creates a playful mood / &ﬂqﬁﬁmmél

3. Improves quiz abilities/ PENE &IﬂﬁTGhﬁHWWT%I

4. Improves comprehension power /mﬂ%ﬁm%l

Correct Answer :-

. Effective method in teaching science / fam= fRreror § gumat d-ieeT|

3) A current carrying conductor is placed normal to a uniform magnetic field. Keeping the
direction of the magnetic field same, the current through the conductor is reversed. What do
you observe? /
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faeyd ae® JaTa® & Th JUH gD &7 T = w0 o 391 911 ¢ | e ax
;‘yggaﬁwwﬁmw%mmﬁﬁmaﬁwﬁmm%lmw

1. The force acting on the conductor will be doubled. / Tl U ¥ el &<t E;;I!HI RIGIE
2. The force acting on the conductor becomes zero. /WWWWWQH@W%I
3. The conductor will remain in the state of rest. /Wﬁw TR H G|

4. The direction of motion of the conductor will be reversed. /Wﬁﬁaﬂ EICARCR
[RISIGIE]

Correct Answer :-

+ The direction of motion of the conductor will be reversed. /Wﬁﬂﬁ‘fﬁ fa=T 1 Iele
RIS

4) What happens when two balloons rubbed with a woolen cloth are brought close to each
other? /

T BIA1 8 o9 &1 TR Th Sl $US Y TSHR T GO P BRId ATQ oI 32
1. They repel each other./ d Udh-guR &I famifd #d B

2. They attract each other. / d TH-GIR I MBI HRd & |

3. They stick together. / d Udh-gER 3 foud I8 €|

4. They neither repel nor attract each other. / d 71 81 Ush-galk ! 3R fa®sid gid g 3R 7 & i
gl gl

Correct Answer :-

» They repel each other./é@-@%ﬁﬁﬁﬁ%l

5) What happens when a glass rod is rubbed with silk? /

T AT & o9 UP Hid B! DS I IH I WST ST &7

1. Glass rod becomes negatively charged and silk becomes positively charged. /
T MS BUMTHSD SHTATRIT BT 91t § SR IR YAIHS SR 51 o1l 5|

2. Both glass rod and silk become negatively charged. /
T RS 3R I G BUMTHD ST 51 91 8 |

3. Glass rod becomes positively charged and silk becomes negatively charged. /
T XS YATHD SHTATRTT BT ST § SR A BUHSD TR BT &1l 5

4. Both glass rod and silk become positively charged. /
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AN S 3R YA Sl YTHS AR B 91 &

Correct Answer :-

« Glass rod becomes positively charged and silk becomes negatively charged. /

T A YTHD AR 8 Il § 3R IIH BUEHD AR 8 Sl g

6) A fine powder is sprinkled on the carom board because it ./

TP HEIH UTSSY &) HH 918 WR fysoT orar & Fuife ug

1. increases the friction /Wﬁﬁh%l

2. Reduces the friction /‘EI'ETUTH'?[WWW%I

3. gives correct direction to the striker/waﬁﬂ@mﬂaﬂél
4. reduces the effect of gravity / [z d & JHTd B! HH IR ol %I

Correct Answer :-

» Reduces the friction /aﬁwﬁmméﬂ%l

7) How many naturally occurring amino acids are there? /

WP fa® © 0 J IUA 31 ara TAAT 3t fra UpR & gid 82

1.22
2.16
3.20

4.18

Correct Answer :-

« 20

8) If a beam of white light falls on a plane mirror at an angle of incidence 30°, then the angle of
reflection for the red color is: /

gfe he UPHTY P T fhT0T 30° F SMUGH BV IR U GHAA UV UR ISl §, o) drel
T F yfafda s1H0T 8-

1. 30°
2.15°
3. Greater than 30° / 30° ¥ 3ifd&

4. Less than 30° / 30° I HH
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Correct Answer :-

« 30°

9) Sambu lives in a slum, drinking water usually gets contaminated. He is prone to get diseases
like ./

Y T FUSUE! # IgdT 8, el Ui &7 U "= giva gt a8 1 39 S|
i g9 $t yauranETITEE) 81

1. tuberculosis / &WT
2. measles / G
3. chicken pox/aw

4. typhoid and cholera / TTSHISS 3R HICRT

Correct Answer :-

« typhoid and cholera / CTSHISS 3R B

10) An object of 3 cm height is placed at a distance of 15 cm from a convex lens of focal length
10 cm. What is the size of the image obtained? /

TS 3 Y TS aTat axg @1 10 e Biod aiaTs a1 T I9d a9 I 15 A
X IR TET W11 2 | U Bfd BT SR 1 82

1.2.5cm/2.5 94t
2.6.cm/ 6 Tl
3.3 cm /3 9Ht
4.9.cm /9 Mt

Correct Answer :-

. 6cm/6@1:ﬂ

11) Which of the following statements is true regarding sound?/
frafafed # @ - oy @i & ded A g 32
1. Sound is a mechanical wave which needs a material medium for its propagation./

@ U A a7 3, o 38 TR & foe e Wi Hredd &t SMTaaehdl gl o |

2. Sound is a mechanical wave which doesn’t need a material medium for its propagation./

¢3f7 U Ui a7 3, O 39 TR & fore Wifdes A1end ot Sraadsdr e gidl 8
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3. Sound is a mechanical wave, so it can even pass through vacuum./

¢~ U Ui a7 8, 3T U8 fFafd & Aregw 9 o 3R IR S pait |
4. Sound is a transverse wave. / €fY Td IR T 5|

Correct Answer :-

» Sound is a mechanical wave which needs a material medium for its propagation./

917 U U a1 8, O 39% TR & foIU U Hifdes HIenH ot Sadehdl gidl g |

12) Which of the following can be used to make the inverted image erect? /

Sact ufafara o1 Hrur w31 & g Fafefea § & fow o1 SuahT fa s awar g2
1. Concave lens / 3{ddd o

2. Plane mirror / FHAW GUUT

3. Convex mirror / 3d GUUT

4. Convex lens / 3T 09

Correct Answer :-

« Convex lens /G?Taﬁﬂ

13) The amount of light entering the human eye is controlled by: /

AT A § U3 B areil A1 B A6 9P gR1 Fifad gidt 8:
1. Iris/tlﬁ_clTﬁW
2. Cornea/a'fllﬁm

3. Pupil /w
4. Retina /m

Correct Answer :-

. Iris/tlﬁ_clTﬁW

14) Why are large poultry farms constructed? /

9 Pape/gT Bt o1 fmtor w4t fear ST 82

1. To raise broilers for chicken meat in large numbers. /
I+ 719 & fore S!S § fiigar 9 & fau|

2. All the above facts. /
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3. To develop very good hatchery for egg layers, in large numbers. /
S T3S oI URdl & ol 95 3] TWpe-=imell fadbRid = & feru|

4. There is low maintenance requirement for developing poultry. /

HIH U b [APH & (oY HH I\IWTG DI ATTIHT Bt ¢ |

Correct Answer :-

o All the above facts. /

Sugad gt 7|

15) If a grass hopper is eaten by a frog, then the energy transfer is from /

gfe T o &1 Hew @1 AT 8, a1 STH Soll R0 g7 &-

1. Producers to decomposers. /IATGH] I 3Tgch| H

2. Producers to primary consumers. [IATEH] I Ui IqHadrsii o

3. Secondary consumers to primary consumers. fediaem IuHtaars ¥ wyfie Iuyiedst @
4, Primary consumers to secondary consumers. / T IqHIasl I fgdiae IuHiadmsii o

Correct Answer :-

« Primary consumers to secondary consumers. / T IqHIadst I fgdiae Suyiadmsit o

16) Tincture of iodine is made by dissolving /

IS F1 Evaer Fw ¥ ford dier o s o 8

1. Todine and sodium chloride / 3TATSI 3R WfSTH FARES

2. lodine and potassium iodide in ethanol / _S’Q:IU'IFT o me GﬁT Ry 3”@3133
3. lodine and glycerol / TS 3R ferRTa

4. Todine and water / 3TAISIT 3R T

Correct Answer :-

« Jodine and potassium iodide in ethanol / _S’Q:IU'IT*T T S 3R ey 3”@3133

17) Find the incorrect statement /

TAad HY Jd DIfoIE

1. Butter is separated by churning /
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TR HY GRT 3{eT {1 Sran g |
2. Components of a mixture change their properties when mixed. /=

T Hre0r & 3faud o A3 {5 o 8, df 3om ot &Y sigad |

3. A pure substance has a fixed melting and boiling point /
TH Y Uerd &1 U (T a1 3R HYid gidl g
4. Milk is a mixture /

Y U A0 |

Correct Answer :-

« Components of a mixture change their properties when mixed. /=

TS 01 & 3iqgd o fAfed ford Srd €, < 3o 707 &) 9gad g |

18) Freezing point and boiling point of pure water at sea level are respectively: /
g TR R Y& od &1 g7 3R Suie sa:Hu e

1. 0°C and 100°C / 0°C 3R 100°C

2.370C and 100°C / 37°C 3R 100°C

3. 40C and 100°C / 49C 3R 100°C

4. 1000C and 0°C / 1000C 3R 0°C

Correct Answer :-

« 0°C and 100°C / 0°C 3R 100°C

19) Identify the displacement reaction which will not take place. /

U e aiftfean ot wfed 8 ghft, suet wgar v

1. Copper metal dipped in FeSOy(q). / DR U FeSOy(aq) o gdl g3l gl

2. Iron metal dipped in CuSOyaq). / TG YT CuSOy(aq) H GOG3N &

3. Magnesium metal dipped in ZnSOyyq). / R U ZnSOy (- d SEIEN gl
4. Aluminium metal dipped in CuSO4(aq). / TeHIFRIA YT CuSO4(aq). & ST §3M B

Correct Answer :-

« Copper metal dipped in FeSOyyq). / DR UTd FeSO4(aq) o g g3l gl
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20) The dimensions of torque are: /
1. [MLT1]

2. [M2 L2T2

3. [ML?T?]

4. [ML2T2]

Correct Answer :-

« [ML?T?]

21) The process of depositing a layer of any desired metal on another material by means of
electricity is called: /

foorelt & areay A ot qiftsa urg ot wra fodt 3 IRl W= s1u1 w5 ot ufehar &1
$gT oITdT 8:

1. Electrification / %E{ﬂ_tﬂmw
2. Electrocution / [dggd g
3. Electroplating / ﬁ?ﬂﬂﬁtﬂ

4. Electrolysis / faggd 3(uc

Correct Answer :-

« Electroplating / fdggdaiu=

22) The Science Teacher brought a white solid (X)to the class and informed the students that
she had used it for cooking at home. When students touched the solid with wet fingers and

rubbed it between fingers. it felt soapy to touch. It also turned red litmus indicator paper
blue.Identify X./

o Rrere e o T Ghe 31N (X) 91 T4 B1E1 @f JRd far fd 3=+ @R W @
TP & oI 3HT SUANT fobar oT1 519 B! A el Iferl & 91d 39 o9 &t vzt
forar va Snferal & e # 39 WISt 91 3= 98 WG ST T | S AT e ny gue
TR &1 ot e &1 ° 9ea fean x &) ygaH |

1. Common salt. / HIYRUT THD |
2. Sugar. / Eisil

3. Baking powder. / CIERRIREN
4, Maida powder. / el USSR


https://applink.adda247.com/d/XhqWf9lSap
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Correct Answer :-

« Baking powder. / SfdhTT USSR

23) A base among the following is: /
fFaffead Gt e 8:
1. CuO

2. C02
3. SOQ

4. NO,

Correct Answer :-

e CuO

24) Calculate the mass of MgSO4 which will contain the same number of molecules as
contained in 10.6 g of Na,CO3.

[Atomic masses: Mg =24u,S=32u,0=16u, H=1u,Na=23u,C=12u]/

MgSO, & I SHHTH Bt TUHET $v, forad fAfga rupsi #1 €=, Na,CO; & 10.6 ITH H
ffea srupaf &1 w= & Tu= gRil|

[URHTY] QHHTT: Mg=24u,S=32u,0=16u, H=1u,Na=23u, C=12 u]
1.12¢/129M

2.10.6 g/ 10.6 ITH

3.120 g/ 120 ITH

4.0.1G/0.1G

Correct Answer :-

. 12g/129M

25) When 10g of sugar is added to 50ml of water taken in a beaker and mixed well what
change is seen in the volume of the solution formed? /

S A fore Y 50 fchichex U & 919 10 9 A SToeR o<y & fiard St g
fafifa faea= <1 v & = uRad= ¢@ar sirar 82

1. Volume of solution decreases to 40ml. /

faera 1 Sraa 40 fRrelielier do ue ST 8|
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2. Volume of solution remains the same at 50 ml. /

faram &1 e 50 ficiielier R IHH W|aT g
3. Volume of solution increases to 60 ml and then decreases to 40 ml. /
faeTamT &1 e 60 fictielier ao g TaT @ 3R fhR 40 fireficlier & ge S gl

4. Volume of solution increases to 60 ml. /

faera= &1 3imaad 60 frclielier a6 s¢ AT 8 |

Correct Answer :-

o Volume of solution remains the same at 50 ml. /

fIeTa &1 3 50 fiefieiiel 1R IHH IgdT 2|

26) Why is it not possible to break the stream of water from an open tap by moving our
finger in between the running stream of water? /

U Y URT & §19 gART ST & A A ga 7d A FR o 3t «=1 Y dis-n 9ug
I T8 82
1. It is because the speed of the moving stream of water is very high. /

U1 S9fod T Tt ot TioRfd YR &1 TIfd 9gd e g g |

2. It is because the size of water molecules is very small for our finger to pass in between them. /

%@Wﬂ%ﬂﬁﬁﬁ@ﬁ@ﬁﬁﬁﬁ@ﬁ%%ﬁ@ﬁm
|

3. It is because the water molecules are held together by forces of attraction. /
ZHT HRU TG g fob T & 3] HTHYUI 9 gRT U R J Y B g |
4. It is because the stream of water experiences gravitational force of attraction. /

T 39T 41T U B URT iyl §d BT SHIHT Bl ¢ |

Correct Answer :-

« It is because the water molecules are held together by forces of attraction. /

U] BRI UE ¢ b U & 3] 38T §ief GRT Ueb gk A §9 €I B

27) Which among the following is a positively charged sol? /
Frafafea & 9 F1 ¢\ ©u 9 Safke e g 82
1. Arsenic sulphide / &WW@

2. Clay / e+t firgh
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3. Gelatine / foT@e A
4. Aluminium hydroxide / TegHIATH R SIRES

Correct Answer :-

« Aluminium hydroxide / TegHIAaY gESIHES

28) Which one of the following methods is used by you to control growth of weeds in
agricultural fields? /

PN &= o WRuaar! & faeg o1 At 31 & foe fRufafaa o 3 fea a1
SUANT 3TUP gRT foadT ST 82

1. Maintenance of hygiene / ¥da3d[ h[ IMAXMWId

2. Prophylactic treatment / IR STAR

3. Intercropping and crop rotation / éd(gb\ﬁti‘l 3R B IHUI

4. Genetically modified crops / \’HHEIW U Y G Byl

Correct Answer :-

« Intercropping and crop rotation / SCsh ITOT SR Bd Tl

29) Which one of the organisms is likely to have maximum concentration of harmful
chemical DDT in the aquatic food chain consisting of King fisher, zoo plankton, fish, and
phytoplankton? /

fhnfpeR, mitreras, Ao, Td UTeUwa® A S+ STeig Wrel §aal # P9 A TP oiig
# g R® TafA® SIS B ey Higdal 819 31 FHTGT grfi?

1. Fish / H&cll

2. Phytoplankton / UTqU Widdh
3. King fisher / fhfheR

4, Zooplankton / PIUNNEED

Correct Answer :-

« King fisher / CRUTRRN

30) Which two of the planets mentioned below have CO, as the major component of their

atmosphere?

Earth, Venus, Mercury, Mars, Jupiter . /

= few e i el ¥ & frad argHea & WW Ued & FUH COz B2
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gAY, P, I, WIS, geufd
1. Venus and Mars / {[sh 3R HTE
2. Venus and Mercury / {[sh 3R qgY

3. Venus and Jupiter / [h 3R QGHI?I
4. Mercury and Mars / §Y 3R A

Correct Answer :-

 Venus and Mars / [sh 3R HTa

31) Which gas having an unpleasant smell is liberated when Ferrous sulphide is reacted with
dilute H,SO4? /

oI By JepTss ot AU aF 1,50, & TTY B ATdl 3 a9 A 77y 3t Si=-d
A g gl 82

1.Cl,
2. S0,
3.50;

4. H,S

Correct Answer :-

. H,S

32) Two unequal resistances joined in parallel are connected to a cell. Which of the following
statements is true? /

S S UfoRIY AR 77 A oS € 3R U Ad A aifora €1 Fufafaa # @ «14-
T HYT I 82

1. Potential drop is same in both. / ICHERCEEARIR:ESEIE R

2. Potential drop is less in the smaller resistance. / BIc UfoRiy & fayg uaq &9 % |
3. Current is more in greater resistance. / a@ gfeRiy o U 31fdew %I

4. Current is same in both. / YRT &I & M %I

Correct Answer :-

« Potential drop is same in both. / faya udq e 7 99 % |


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

displaces zinc from ZnSOy solution. /

ZnS0, faea | i &1 farmua szar g1

1. Copper / GIEl

2. Lead / 1T

3. Iron / 3R

4. Magnesium / REH

Correct Answer :-

« Magnesium / TREH

34) What test measures, through tasks, the ability to apply the skills and

knowledge learned? / CaCk:| tI'\Pf«‘l'l'l'JT ST D AT ﬁ, ST 3R FUE &1
AR B DI AT TG Y ATIAT 82

1. Breadth test / %ﬁg‘l‘sﬁ TRI&T0T

2. Power test / RITokT TRI&UT

3. Speed test / TTicl TRI&TT

4. Performance test / TGRI URI&0T

Correct Answer :-

« Performance test / EITIQ&T qﬁ&‘I'UT

35) Learner-centered assessment process does not focus on: / Rremdf-FHfea
AP uReaT W P T g B

1. Assessment of learning / SETH BT el

2. Assessment for learning / T &H f?’l'q ICANGH

3. Learner’s individual performance / fRremif &1 aafaaa ue=H

4. Learning the process and experience instead of learning the product / 3l &

ST Pt Fog UfehaT 3R STHT BT AT

Correct Answer :-

. Assessment of learning / SETH BT 3fiheT
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36) Which of the following is a myth about science? / frafafaa ¥ 9 s19-91
fae & IR ¥ ta Ay 82

1. Science is perception/ IERIERIR R %l

2. Scientific knowledge is absolute / W M ﬁ@r&r %I

3. Science is dynamic and tentative / ﬁfﬂ:[ HIGEULN] G?R TYTfad %l

4. Science and its benefits are universal / Iraill'-l Sﬁ? s%lab NIk Hﬁlﬁm %I

Correct Answer :-

« Scientific knowledge is absolute / afl'm M FRUg %I

37) Which type of memory stores information relating to ourselves? / foa

PR I Wi T4 & Hafa THaRY Suga sl 872
1. Autobiographical memory / HIHDPYTHD Fjﬁ[

2. Episodic memory / PIRIEED Fjﬁ[

3. Biographical memory / EIERICE Fﬂﬁf

4. Declarative memory / EINIEED Fﬂﬁf

Correct Answer :-

« Autobiographical memory / WWF{%

38) Akash will reach his school in 15 minutes on his bicycle. If he rides his
bicycle with an average speed of 3m/s, then how far is the school from his
home? /

Tfe amepTer g Arsfra 3 HMiex / AFs o1 3id nifa A IaTan 8, ) 98 Sra= arsfea
¥ 15 firTe o 31u= Y d g, df 3U® IR 9§ I d fhd-il gr 82

1. 2700m/ 270080
2. 270m/ 270 Hlo
3. 45m/ 45HTo

4. 450m/ 450 Hio

Correct Answer :-

. 2700m/ 2700HTo
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39) What are the advantages of keeping an apiary? /
AYUTRITET ¥ & o1 a1y 32
1. Honey is widely used all over the world. /
EC B YA fogd U I g gRar A giar @
2. Bee keeping is a low investment scheme. /

AYIRI! gTe U g o g 8

3. Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for
medicinal purposes and will be an additional income generation for the agriculturist. /

IS & TGN & 1Y g iy ILxal & forg oft mymie 3 TyHRd) ureH Y INT 8 3R
FF & forg sifafkad sima e 8

4. Bee keeping does not need much investment and can be grown anywhere in the garden or

even on roof tops. /

AYHRIT gTer & o if¥es < &t Srawaedr 76l & SR 39 S 1 ©d, Hel H fasiia
foaT o Fehal §

Correct Answer :-

» Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for
medicinal purposes and will be an additional income generation for the agriculturist. /

Y8C P TUGY & 1Y g1 N9y IRt & forg +ft AyAH 3 AYHRS! UTeH S I § 3R
FYH & forg SfaRad sy e

41) “Assessment is both reflected and reflecting process”. In this statement, reflected and
reflecting words are used in reference to and respectively. /

"3, aitaféd (Reaaes) ik ufafdfad & (Rwafem) & ufkar =i 81" 59
FYTH, uﬁv@m(ﬁqﬁa%s)aﬁvwﬁrﬁmmﬁ(mﬁﬂ)aﬁmm@w
mﬂm MR pucH A frarwmar 2l
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1. student’s feedback, teacher’s feedback / 9T Gl Qﬁ'ﬂfg, fR1&1e 1 Qﬁfﬂf@
2. student’s performance, teacher’s performance / ST T U@ﬁ, 186 BT UeeA
3. teacher’s feedback, student’s feedback / TRI&[ @l Qﬁg@, EIEED U%H@
4. teacher’s performance, student’s performance / fR7&1% I Q?Qﬁ, BIEKA! EIH’-‘Z&[

Correct Answer :-

. student’s performance, teacher’s performance / 9T DI UazH, e/ &1 U’

42) What is the duration of kharif crops. /
GG B B Safd w1 52

1. June to October. /\_rff@f Sfdga db

2. March to September. /WQWW

3. November to April. / JI=R § 30 dPH

4. October to March. / 3¢aR ¥ A d%

Correct Answer :-

« June to October. / 5[ ¥ 3fagaR ddb

43) The correct statement among the following is: /

ﬁ'ﬂﬁﬁ'ﬂﬁ$ﬂ?%:

1. Dry ammonia has no effect on litmus paper / [t ST BT feeHy TR WR Hig GHIE -Tg!
gsdi

2. Curd is basic in composition / &l T H &g g
3. Solution of glucose in water is acidic / ot H W CARCNRERCEIE) %
4. HCl is a weak acid / HC1 U god 31 §

Correct Answer :-

« Dry ammonia has no effect on litmus paper / [t ST BT fele iy TR WR m PHICEE]

44) To bring a charge of 5C from infinity to a point in an electric field, 50 joule of work is
done. Find the potential at that point. /

% fagya &= | 3Fd | 5C &1 AT TS fdg d% a1 & oY, 50 5@ &1 rd foan
SiraT g1 39 fig R fava gma &1
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1. 250V
2. 25V
3.0.1v
4. 10V

Correct Answer :-

o 10V

45) Two forces are acting on a body such that the angle between the direction of
application of the forces is 60°. The minimum number of force needed to keep the body
atrestis:

3 961 Uo fITa W ST #5238 & o9 & i & Ui ot fa=m & S 71 H107 60 ©
21 P &) fav W @A & T sirawas gAad §@1 94 @

1. Only one force/www

2. Two forces / Gl §d1

3. No additional force is required /m 3ffaRad 9 Wﬁ%l
4. Three forces /T‘ﬂ:f dd

Correct Answer :-

o Onlyone force/aﬁlﬁwaﬁ

46) Amplitude of vibration of body is the deciding factor of :
/ o1 & SUE & A BT s $RS 3

1. The quality of sound produced / Idiad @i+ Bt TUTdedl

2. The intensity of the sound produced / Idrfad @i & diadm
3. The period of vibration / U D1 3fafd

4. The frequency of sound produced / I@Ifed @i+ B 3T

Correct Answer :-

« The intensity of the sound produced / ScTiGd &= &I Tlerdl

47) Ecosystem is constituted by /
iRfRfae® &= &1 fmtor i & gian &:
1. Dead organisms / Hd Sitd
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2. Only biotic components. / $Hdd Slfdd gcdh
3. Only abiotic components / FId 3ifdd geh
4. Both biotic and abiotic components / Sfae 3R sraifdds Ted gl

Correct Answer :-

« Both biotic and abiotic components / Sfdw 3R 3rifae Tedh aHl

48) CANCELLED

Fever is caused due to the /

§UR P HRUT T 8:

1. overgrowth of bacteria / SaCIRTT B AAF gl

2. overgrowth of virus/mﬁ Wg@

3. overgrowth of pathogens /W?ﬁ 3@%@'@

4. body inhibiting the growth of pathogens /W AT | & BT DI Adbdl %

Correct Answer :-

« body inhibiting the growth of pathogens / TR TS| & fIhT Bl Abdl &
49) CANCELLED

We feel more comfortable in light coloured cloths in summer than dark coloured cloths
because: /

g&fﬁﬁgﬁw%mﬁﬁmmmﬂwm%ﬂ%nﬁw%m

1. Light coloured cloths absorbs more heat radiaﬁon/?ﬁ@%ﬁ, 3 3 fafdsur &
AT B B |

2. Light coloured cloths absorbs less heat radiation /WT‘T% Ob'vl\%, HH oA fafur &

NI HRd B

3. Dark coloured cloths radiate more heat radiation /"IEB\’T‘T&TW WW@W,
I id Hd g

4. Light coloured cloths absorbs more moisture / 8¢ T & HUS P TH BT aVT Fd B

Correct Answer :-

« Light coloured cloths absorbs less heat radiation /BﬁW%W &Y 3 fafeur &1
SN HRd B
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50) CANCELLED

Raj pets a dog behind its ears because he saw his father doing it. What type of
learning is he exhibiting? / ITsl Udh ﬁﬂ' P3P FE P G s WIR hdl %
i IH 3 firaT ) THT B 3T UT| 98 f6H U & ifr &1
U HIIET 8

1. Instinctual learning / JeT UJATHD S (SRS SIBH)

2. Observational learning / Ueruiig S (&T&ﬂafil'-lﬂ ﬂﬁ:TI)

3. Socio-cognitive learning / ATHTNIG-HHIHD S{ETH (ARA-BiHITCd =)
4. Latent learning / 3foddd ST (a%? FI'EF'D

Correct Answer :-

« Observational learning / Ueoiyg 3{feRTH (&r‘f&ﬁma QA=)

51) A vehicle is moving with a speed of 90km/h. What is its speed in m/s? /
T® arg+T 90 fft/ et 3t wfa & M ggan 31 e/, # ot 32

1. 90 m/s/ 90 Hic/&o

2.15 m/s/ 15 HieXHo

3.2.5 m/s/ 2.5 Hic "o

4. 25 m/s/ 25 HicI/Ho

Correct Answer :-

e 25m/s/ 25 Hex Ao

52) A teacher can use which of the following strategies of teaching to complete the
syllabus for a class having majority of students with different learning pace? /U&d ﬁT&W

STYBTRI: MR- A | ARG a1 B B! b H&T & UTSUHH Pl WeH B &P
fore FFafafaa & 9 feg o &1 ST o J&dT 82

1. Use of ICT resources / ATSHTC] GaTA! BT STIN

2. Individualized classes / ST HETT

3. Conducting tests every week / gX Hidlg TRI&707 TSI =T
4. Teaching only limited syllabus / SHad IIHd UTedshH Ueldl

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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« Use of ICT resources / G{I_sf_{:ﬂﬂ ITeAT BT IUINT

53) A ion containing 18 electrons and 18 neutrons. Name the element A. /
TSP AT A° H 18 Fadel 3R 18 Y1 €| Ied A HT =TH FaTd|

1. Potassium / TITRIH

2. Chlorine / TR

3. Nitrogen / :lTE'@a—*f

4. Aluminium / W&Iﬁ'&l—q

Correct Answer :-

« Chlorine / FRH

54) Animal parasites are also consumers. Identify the ecto parasite from the list given. /
ux] Wit +ft Suier g1d 81 € S g @ arerwReidt o ugae |

1. Lice/ \_TI

2. Plasmodium /@ITSHITSTH

3. Pinworm / fUfH
4. Tapeworm / WIdTdh o

Correct Answer :-

« Lice/ \_li

55) A student with a scientific attitude will: / I[P TVDIVT TTAT UPH BT I -
1. Develop independent thinking / Tda g famRid &3 arer

2. Admit their mistakes only under duress / 3T TTAfdl &l Had GaTd H WPR
EREKCI|

3. Ignore details irrelevant to the task at hand / BT e b %I'Q 3RS
faaRuT &Y 3FgET B arel

4. Suspend the judgement after one-time confirmation / Uch-dIR Gl H@ & dI fAofg
RIFT B dTell

Correct Answer :-

. Develop independent thinking / ¥Idal T famRid &3 arer
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56) What is the basic education qualification laid by the Educational
departments of the majority of states for a high school class science teacher? /

TS I faemeg ot fag= Riere & forw srirei=r Irsat & Qe faumm gr
Fruffea gaya Rrem aivaar «m 82

1. Bachelor degree in any subject / fodit +f} fawg H \rdes Iurfd
2. Bachelor of Education / TR1&f1 H |1

3. Bachelor of Science / IraQ‘IH H ATd®

4. Master of Science / fa3H & TTdd IR

Correct Answer :-

« Bachelor of Science / i-aill"l H 9ds

57) A learner is able to solve numerical on current. According to Dale’s ‘Cone of
Experience’ he has most probably ./ P ﬁT&'ITQﬁ, YRT (PIC) W
TRATHD UY B A P U T&H 81 S & "SI TP TRIGIRGT' & AR
HYad: 394

1. read a book / YIdh tl?ff %
2. watched a demonstration / Uch El?-‘?h LRG| | %
3. role-played a situation / U TR & et BLIER

4. heard a lecture / % ARSI 1§

Correct Answer :-

. watched a demonstration / T QGQi:I é@T %

58) Achievement data is collected with a focus on the science content that is
most important for the students to learn. Which of the following facts leads to

a contrary opinion? / miﬁréa,ﬁsrﬁ'\trmﬁw U Higd HH &A1Y
U3 forar wirar 8 o B & R & e 999 Aeayt 81 fFufafaa # @
®I19 91 9 faudia I 3a1 82

1. Equal attention given to the assessment of opportunity to learn and achieve/

R 3R YT B & TR P 3MTh e TR FHA &7 ST

2. Knowing and understanding scientific facts, concepts, principles, laws or theories/

yTfAe a, sraurunaef, Rigial, Rawt a1 Rigidl &1 ST 3R IHeMT|
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3. The ability to inquire / SIS B DI &

4. Focus on intelligent students only / Had glrc.al-ll'-l BT UR 47 STl

Correct Answer :-

« Focus on intelligent students only /W@@ﬂﬁ@'ﬁﬁm T 1|

59) Which of the following learning approaches can help a student to
summarize the material for exam preparation? / ﬁl’ﬂ'ﬁ’l’@ﬁ A9 ﬁ? T
AFRTH ERHIV, TP B &1 udien Ft gt & e arrh &) IRk wea A
HeE B Pl 8?2

1. Experimental learning approach / U SffRTH ?‘;’@W
2. Concept mapping / Gh Ul EIEIEEL

3. Rote learning approach / ho& 3 e eI

4. Problem solving approach / JHYT JHYTH Hical

Correct Answer :-

. Concept mapping / Hh Ul EIEIEELY

60) The emphasis from teaching to learning can be achieved / fRreror 9 srftnma
% SAYRCT B 31 §IRT U T 1 vt B:

1. by encouraging rote learning / 3] HTH B UlTed Hh

2. by helping child achieve good examination results / S Dl 3w WIS uRomy
T 3 H HEG IR

3. by adopting a lecture style instruction / Uch HSHTq Qe R BT SRR
4. by adopting child-centred pedagogy / STd-ohiad FRITRIRG BT TR
Correct Answer :-

. by adopting child-centred pedagogy / STA-dlad RITRIRA B TR
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